Three Forms of a Quadratic
        

PAP Alg. 2                               


A Redhawk is diving down to eat a raccoon.  The path is modeled by a quadratic.  Three people have attempted to model the path and given you the following equations:
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Enter the functions into your calculator and graph:

S(x) = 
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F(x) = 
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V(x) = 
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a) What do you notice about the three graphs?

b) Verify algebraically that S(x) and F(x) are equal by solving the following equation:
S(x)     =     F(x)

   x2 –  2x – 8  =  (x –  4)(x + 2)

c) Verify algebraically that S(x) and V(x) are equal.

d) Find the following critical attributes:

Vertex:___________
Roots:_________________
y-intercept:_______________

Each of the 3 forms of quadratic equations can be identified by the critical attributes above. Which equation tells you which attribute?  Match them below.
Standard Form  S(x)




 
Vertex

Factored Form  F(x)





Roots

Vertex Form  V(x)





y-intercept
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The following is a picture of a Quadratic.  Label the:

Roots:  ( r1, 0 ) and ( r2 , 0 )

Vertex:  ( h , k ) 
y-intercept:  ( 0 , c ) 

Axis of Symmetry: x = h
1. Find the vertex and roots using your calculator to write the equation of the quadratic in vertex and factored form: 
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Vertex:                                                  Roots:

Vertex Form:                                          Factored Form:
2. A catapult is designed to hurl a pumpkin from a height of 40 feet at an initial velocity of 215 feet per second.  Remember that 
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Write a quadratic equation in Standard form:
Vertex Form:
Factored Form:


















Calculator Information


How to find the vertex: 


Input equation into y=


Determine if Max or Min 


2nd - Trace – 3 minimum or 4 maximum


Set Left Bound of Vertex-Enter & Right Bound of Vertex-Enter


Enter - Enter














How to find the roots:


Input equation into y= 


Y2=0


Graph 


2nd- Trace- 5 Intersection


Place cursor on the root you want to find and click Enter – Enter - Enter





Write the three forms of the Quadratic.  Use “a” for your a value.  These equations will be the general forms for Standard, Vertex, and Factored forms of a Quadratic.





Standard form:














Vertex form:














Factored form:
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